Jb3(2019.3.22 (&) ~3.25(A ) RZTPa—)L

2019. 3. 26
AZE |HE HEHE
= BE |EE# RE
BEE = TEam. oia
DE |[dhHK. dHE
=St B 1F5R W=
o JC
BB [menfems Wz [ R
17:30 PIHEIEHEOE—ZAKLI 5—E8 0 0 0
EHSADERF o[ -113 11
3g 20/ [19:30]22:30] efTigt FIH—ILZE CA0168(4BkRH) 0 0 11
(%) SB R 0 0 11
; iz (H—Jt) 40,000] 0] —2.279] 2,291 17,55 [A/= |
23:30]24:00] AR |FmEZEHESKTIL 0 0] 2,291
B | RERKIE Fy7 0 0| 2,291
7:30] 8:30] #E [HKTI 0 0] 2,291 ERSAEER
ETETREL 0 0] 2,291 16208 7EF )L
9:00 tmEE U S EE) (505) 0 0] 2291
EAIE (40%7) 0 0] 2,291
BE |pERLOSLLSFE A 0 90] 2,201
XEMEE 0 0| 2,201
35238 JARASZ ] 30%) 0 0] 2,201
(+) HEEE 8= (BER) (1BRE205) 0 0| 2,201
mE(A—t) 30,000 0] -1,740[ 3,941
MR E Tl A= MR AR 260 1,040] 2,901
Y8 |[R—AREELEmIFIE ;A HK 0 460] 2441
19:20 RTILE 0 0] 2441
R—/3— RE 0 25| 2,416
RA—/%— it 0 32| 2,384
EiA | RERKIE Fv7 0 0| 2,384
6:30[ 7.00 #{E [HTIL 0 0] 2,384
:H:ELxB% -Th RE 0 0| 2,384
S ERY) (1R 0 0| 2,384
7:30 ftgﬁ(*ﬁﬁﬁ&) 0 0] 2384
STYIRAEEE (40%) 0 0] 2,384
BIEDEEF =2E &AM, RE 0 450] 1,934
3A24H 13:00) BE |[EHE(FEAEX ARARXOBELTE) 0 0] 1934
a) HEEE:  SFEORM (Em) 0 0| 1,934
IE&E (407) 0 ol 1934
EE EE. &AM 0 200| 1,734
S8 |[AFRHECALRERIYY) [E:-ERE A 0 240] 1,494
19:40] X [RTILE 0 0] 1494
A—NN—(BETEBEL\W) R EARM. . B3 0 482] 1,012
Fil, EHETE 0 186] 826
{E/Ei It RERERIE Fv7 0 0] 826
6:30] 7:00 R"TIL 0 o] 826
ﬂiﬁl:s% EEAIE (R s DER)  (1Erm) 0 0| 826
7:30 EEFOEE 0 o] 826
EZRE (4050) FOHITE 0 o] 826
t#HEHSY  (6053) 0 0] 826
14:25| BB [JFEfE AL 0 180] 646
3825H 0 0| 646
(R) NR |—dbmZEE 0 o] 646
0 0| 646
17:20] 21:30| 474 [dLFR—FIH CAO0183(3KF[I10%) 0 0] 646
fEEX 0 0| 646
0 0] 646
mE(Gt—H) 90000 0 632 14] 1424 [H/%x |
THE 0 14 0
&t -0
AT AR 8 4




